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5th Semester Examinatipn

CHEMISTRY (Honours)

Paper : C 13-T

finorganic Chemistry-Vl
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The figures in the margin'indicate futl marks.
Candidates are required to give their answers

in their own words as far as practicable.

Gnoup - A

Answer any Jive questions : 2x5:10

1. Using l8-electron rule, find the value of 'n' in
(r'-co)co(co),

2. What is the formal oxidation state of iron in

Narlre(cN), l,ro]r

3. Show that substitution in square planar complexes is an

associative process.

4. Acetylation of ferrocene produces only one major
product. Explain why.
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16.

(4)
(b) Show by examples oxidative addition and insertion

reactions in organometallic complexes.

(c) Write and explain the light and dark phase

reactions related to photosynthesis.

(d) Draw the structure of 4Fe-4s ferredoxin and

mention its biological frnction. 3+2+4+1

(a) The v"-, of isoelectronic hexacarbonyls is given

below. Explain their trends. (V"-o :2143 cm-1 in

I ri (co),f'- (u,, = 17 48 cm-' ), [v (co), ]-
("-' = 186ocm-1)'

lc, 1c o),)(r"-, = 2ooo cm-l ),lr' (co),)'.
(v'-' = 22oocm-1)'

(b) Draw the microenvironment of the active site of
Hemocyanin.

(c) Illustrate by an example using its qualitative

molecular orbital diagram the reason for ttre stability

of 18e- organometallic complexes.

(d) How is ferocene converted to (nt -Crnr)
re(nt -c5H4NHr)?

(e) Applying l8-electon rule deduce the structure of
fer(CO),r. Show the different modes of bonding

free CO\

of CO in this structure. 3+2+2+l+2


